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QUESTION 1

Cerebral palsy affects an indMdual\\'s ability to maintain balance, achieve posture and move about smoothly. Symptoms
can change over a person\\'s lifetime and other disabilities may result, such as poor vision and reading. What is the one
factor of cerebral palsy thatdifferentiates it from other disabilities?

A. There is a cure for the disorder.

B. IndMduals live a shorter lifespan.

C. It does not progress or worsen.

D. It requires corrective surgery.

Correct Answer: C

Cerebral palsy is a brain abnormality that does not progress over time. Symptoms may change, but the disability stays

the same. People who sufferfrom this problem have damage to the part of the brain that controls muscle tone. Often
diverse muscles will be affected at different times.

QUESTION 2

People with Munchausen are aware they are exaggerating medical issues. What is the difference between that disorder
and hypochondriasis?

A. Hypochondriacs believe they actually have a medical problem.

B. Munchausen sufferers actually get treatment.

C. Hypochondriacs do have a medical problem.

D. There is no difference.

Correct Answer: A

Hypochondriacs have an excessive preoccupation with contracting a serious illness. They tend to be alarmed about any

medical symptom they suspect, even minor ones. This disorder persists although a doctor may statethere is no medical
illness.

QUESTION 3

Clinical social workers will have success with self-determined goals when the client feels it is within their capacity.
Commitment can be obtained when the indMdual feels the goal is important through their active participation.
Performance is affected through four mechanisms. Which of thefollowing is not related?

A. leads to the discovery of task-relevant knowledge

B. persistence

C. attention is moved away from irrelevant actMties
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D. acknowledgement of interaction
Correct Answer: D
The fourth mechanism is the energizing function. This theory also recognizes the relevance of task performance based

on goal commitment, feedback and self-efficacy. It is the focus of the clinical social worker to ensure the goal set forth
by the client is attainable.

QUESTION 4

Social equality does not make reference to income or economics. It focuses on the social aspect of equal rights.
Opportunities for indMduals should not be reduced due to income, language, disability, gender, origin or age. Many
argue this cannot occur due to what?

A. Economics, foreign policies and immigration

B. Discrimination and racism

C. Lack of enforced boundaries

D. Diverse culture origins

Correct Answer: A

Social equality is defined as people within a specific society or isolated group having the same status. Manyfeel this will

never occur due to economics, foreign policies and immigration. Social equality includes security, access to health care,
freedom of speech and property rights.

QUESTION 5

Amanda is a struggling single parent with three small children. Due to a disability, she is confined to a wheelchair and
receives a small compensation check. This income is not providing for her family so she decides to go back to work as a
waitress. Amanda has held two other similar jobs in the past and was able to complete hertasks as required from the
comfort of her wheelchair. She applies for a part-time job at a local diner and is asked to come in for an interview. There
are two other people there for the same position. They have no previous experience waitressing, but are not disabled.
Amanda is denied the job because the diner cannot make accommodations due to limited space. As she leaves the
interview, there are two other handicapped indMduals in wheelchairs eating in the establishment. Does Amanda have a
valid claim with the Americans with Disabilities Act?

A. No, she does not have enough experience.

B. Yes, she cannot be expected to perform the job like everyone else.

C. No, Amanda has difficulty finding transportation to work.

D. Yes, accommodations are required.

Correct Answer: D

The Americans with Disabilities Act protects indMduals with mental and physical impairments. They require disabled

citizens to have an equal opportunity to work and require that accommodations be made. Amanda has the experience
and skills to perform her job well with little hindrance.
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